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Note: l ^ Question nunrtrer t is compulsory. Solve any three out of remainrng,

2. Draw figure wherevel necessary' rr': 
'

3. Assurne suitablc <lata wherever necessary ' ' . '

10

10

(b)

2 (a)

(b)

3 ta)

(b)

10

10

10

10

10

10

10

10

20

4

:

-s

the help of diag am.

1 ..,.t . "

..): -..'',j

DF85B2CAF8DDC?03 1 9367 9392 AE832FE

comparison between RPO and RTO'

with the help of diagram.
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T5128 i T1845 BIG DATA ANALYTICS

Max. Marks: 80

Q.P, Go-de:1518O

N.ts,: (1) Question No. I is compulsot'y'
(2) Attempt any Three questions out of remaining Five questrons

(3) Figures to the right tnclicate futl marks'
(4) Assume sr'ritable data if necessary'

i20l

c. Explarn cAp Theoi.em'lhow it is different from ACID Properties,

d. What are the shoi:tc6rmng, or r*ur".i neighbor techniqtic in collaboratrve filtering method?

Suggest some lffrprovements'

Qu-2a,WriteaMap-RedrrceAlgorithmtorBinaryg*-1!ltlT.^Explaintheflgwofexecutioll'[10]
eu-2 b. Suppose a stream ccnsiits of the rJegerr2,I;6;7,5,9.2;':5. Letthe hash functions all be of the

form h(x).=ax+b mortr 16 for some a'E b-'*o* rir treat the result as a 4,bit brnary integer'

Determine rh; ;-ii';;s,h i* ;* .;t,C .ri*"ri una'rihe resultrtg estinlale of the number or

a) h(x)'= 2a+3 Ynod 16 :

c) 5x mod i6

eu-3 a. Explain Different typqs of regomgqendation system with real lime exartples' 
i13l

i.,-: U. Consider the portion of a fVeU glaph' as shown in Figure- 1 L 1 u'l

i) Compute the hub and authorities scores for ail node s

ii]Doesthisgraphcor-rtarrrspidertraps?Deadends?Ifso,whichnodes

Q"1

Qtr-4 a. Write a short noie on

i) PCY Aigorithm
ii) cune ilgorrthnr

eu* b r#ginl-ri*r" ,* ioo u"_ir.31t, numbered 1. 2,.. ',i00 items, similarl.v numbered' Item I

basket J lf and o1ly i.f I <livides j evenly. For example basket is 24 is the set of items

{ 1,2,3A,6,8,|2,24). Describe all the association rules that have 100% confidence,

Qu--5 a. Detlne Illcom Fjlter Explarn the concept olBloonl fi1fer Algorrthm with example'

Qu-5 b. F.xplarn iiiTS algcntirm t'vtth example'

Qu-6 Anlwer any two of the foilowing
it. NoSQt archiiectural pattern with example'

, b. ' fr'{atrix Multiplication by Map Reduce

. .. , iiu g expiain Big data :- t) Characteristicl__]) rvnes 3) Chaltenges

332 1 6958208428 1 s5E053B 1 i 85BC6FDD

Answer the follr:wing:

a. Explain Different f)istance nleasures for Brg Data'

b. tlxplain the t{acloop Architecture with its featules'

ir 0l
L- -l

is in

l10l

i1 0l
[10]

i20l
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f.{.8. (f} Question No..[ is compulsory.

{X) Out of rernaining five questions, atterrpt auy three questions.

(3) Assume suitable data if required but justi$ the mme.

(4) Figures to the right indicate flrll marks.

(5) tise of Steti*tical Tahle is allowed.

QI {a} Hxplain steps in simulation study along with the flowchart. Il0J
S) lxflaiu the properties of a Poisson hocess. [OSi
(o) Parform the simulation of the following inventory system, grven daily demand is [oSj

represented by the raudom aumben 4, !,8, 5,2 andthe demand proUaOitity is given
by

Q?

rI3

If the initial invontory is 4 units, determine on which day tke shortage conditiou
occul5.

fl l?tr thg qryueing na&tioru queu$ discipline and queue behavior. tlOl
{b) Given thg iaryt params&n, simulation.variable,-output statistics for the queueing [fOi

system. Calculate the ougut sh.ti$tics for &e queueing system rvhose inter-anivfr
aad servics times forten ardvals are given below:

ffi,{onsider the tbllcwing seqtnnse ot'rqndom numbeffi. How would you test it tbr Il0]independenre based on ruhs above and ruRs belorry the mean ibr ttre significence
level s = 0.05 and the ryitical value Za.ms = I.96

Demand Frobability
0 a.2
t 0.5

U.J2

0.1? 0.01 0.23 0.28 0.89 0.3r 0.64 0.2s 0.33 0.93
0.39 ft r( 0"33 0.35 0.91 $.41 0.60 u.25 0.55 0.88

$) Explaiu lnverse traneform technique for rcadom yariate geueratian. Support your t10I
arlswer with suitable u*ampla

Q4 {a) What is t}re purpcse of model verifioation? What are &e difibrent ways available to IlgJverig amodel?
(b) Ihaw the flowchart for arriv*l and departure event in single server systom. Comparc tlpl

event-scheduling; process interaction and activity scanning elgorkhr*.

servicetiqrq l, it i+ lllz i?-fj*IAl5-i5

A6EOA59D8FO7 i BC752F7D8785ECF8OBts

Turn 0ver

Inter*arrival time I 6 I I 7 3



-t"si28 i ri846 B.E.(iNp-ORMATTON TECHNOLOCYXSEM VirD (CBSCS) COIVIPUTER SIMULATION & MODELINGTI2-
Q.P"Code:1824s i 83)

L__/
2

ej 1a) The following is set of singl* digit numbers from a random number generator. Using [10]

appropriate._.lsl check wfietUef the numbers are uaiforely dishibut€d. N = 50,

o = 0.05, X6.wS = t$'B

{6,7,0r 60 9,91 0, 6,4,6,4,0,8, 2,6,6,1,?,608,5,6 0,4,7,1,3,5, A,7,1,4,9,8,

6,0,9, 6,6,7,1,0,4, 7,9r2r 0, I,4 8)

{b} The following data lrere available for the past 10 years on domand and lead time. tl0]

Estimate cortelation and covariance'

QO (a) Explain the batch means for interval sstimation in steady state simulation. [10]

iti Wfr", are tho objectives af simulation in a manufactring system? Give the blosk tl0l
diagram and expiain the sequence of operations in a maaufacturing system' $uggest a

suitable simulation language for the same.

*!r*t******ri* f, **+*'t*'|:*i*t.*'lrit*'tri*,*t**+ +

L*ad Time 6.5 4.3 6.9 6.0 6.9 6.9 5.8 ?.3 4.5 6.3

Iletnamd 103 83 116 97 112 1S4 106 109 9? 96

46EOA59D8FO? i BC752F7D8786HCF8OBB
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Notc: 1 lQnr:*titn **. I is compuisor:y.

2) Solve any three out olremaiuing i-rr.-c questions.

3 ) Assume suit*Lrle data wherevsr ne cessary.

Q t ai [{ow rines tssting help in proclucing qualit-v sofrvrare?

b) 1\,hai are the rwes ot-ei-n:rs rletecred by black-box testing

ci Brielabout.fruncrion Point Metric fbr so{tware testing.

d) $ifsrentiate svstern testing and acccptance testing.

Q.2 a) \fu'har iE soffr.varc testing? Describe sr:ftware testing modcl lr,ith a *eat

diitrnrtt 
'

bi wh'v co r.r,e need inrc-urarion tesrins',) Explain variour approiri:hes in
intcgl'arriin tcstlng.

Q.3 a) iliscurss the benefits of veriflcation *nd r.aiidation in a pr.o1cct.

b) What is static tesring? Expiai* the tlpes of static testing

Q.4 a) Brief atrout Sofnvale Quality j!{anagemenr

b) lliltat is the :reed fr:r softwarc measursme]:t? Dis{riss ihc various

types r:f sr:*tware rnefrics.

Q.5 eit 11&ar are the chiille*ges in testing web i:ased soflwarcs!

b) Considcr the iollor;ing plograrrr sogment:

#inul uclc'<stilis. h;-

rrraini)

i tloaf x, Y, zi

r:lrscri l:

printf{"entcr the three variables x. -y, z'.):

scanf("Vof Yof l/of ""&x, &y, &zj:

if('x ' Y)

{

iflx > v)

Q. P. Code:13496

l\,{arks: B0
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prirrtl('.>. is greaLcst"').

el:c

printf{'"r is greatest"};

e ise

1
1

ilYr, , z).l\ I

prirrtf {"Y is greatest"}l

clsr:

printfi "z is greatest");

I

grtch():

i

L Dr*rv th* elecision*t*-decision greph 01 IID graph tctr the above program.

:. Calculilte the c1.cl*rnatic con-rpiexit-v of the progta$lusing all the methods.

3. I."ist all tlre indcpendent;:atirs.

4. Design ie$t ca$es frorn indcpendent paths.

Q,{r Write short notes olt ilt-}} trvo. r {3{i}

a) {}b.iect-oriented Testing.

bl Regrcssion'festing

c) Ilgg classification baserl on Software Development Life Cyde (SnLCj

ti I i\(:ijS,19263EAOf lrcz53 I F?FI)5()8767i


